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LEEE A90, 000, 000 1,798, 425, 181 262,503, 461 80,954, 784 , 564, 966, 936
KURE 0 480, 190, 478 0 0 480, 190, 478
BT & 0 29, 840, 521 0 0 29, 840, 521
SHEIEES 0 22,970,000 0 0 A2,970,000
RENEEST(A) A90, 000,000 2,305, 486, 180 A62, 503, 461 80,954, 784 ,072,027, 935
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HiZ - BT 0 0 0 200, 000, 000 200, 000, 000
K - BT 0 0 0 200, 000, 000 200, 000, 000
FTHWEIE - BITHI 0 0 0 268, 274, 300 268, 274, 300
KFES - KIE 0 0 0 100, 000, 000 100, 000, 000
HERBEST(B) 0 0 0 768, 274, 300 768, 274, 300
(2) B EEE
HEHEEEILEE 0 3,340,484, 312 0 0 , 340, 484, 312
BRHAMAEILEE 0 11, 829, 373 0 0 11, 829, 373
BEEEA(C) 0 3,352, 313,685 0 0 , 352,313, 685
(3) ZDDEEEE
AKRIRIT EH 0 200, 000, 000 0 0 200, 000, 000
FWEEREE TH 0 500, 000, 000 0 0 500, 000, 000
EY 0 1,181, 548, 227 0 0 , 181,548, 227
EUtEEE 0 57,516,179 0 0 57,516,179
BEY 0 4,781,595, 217 0 0 , 181,595, 217
HHEE 0 250, 433, 285 0 0 250, 433, 285
HilERE 0 36, 021, 235 0 0 36, 021, 235
HEE 0 44,031, 798 0 0 44,031, 798
tih 0 1,057, 494, 287 0 0 , 057,494, 287
EEREE 0 0 24,585, 000 0 24,585,000
VIkoz7T 0 4,165, 321 0 0 4,165, 321
EEEMMAE 0 542, 640 0 0 542, 640
HES 0 10, 000 0 0 10, 000
RERTILER 0 17,516, 639 0 0 17,516, 639
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RIRHEIL & 0 13, 335, 771 0 0 13,335, 771
ZOMEEEESET (D) 0 8,144,210,599 24,585, 000 0 8, 168, 795, 599
EE&EEA/ (E=B+C+D) 0 11,496,524, 284 24, 585, 000 768,274,300 12,289, 383, 584
BESE (F=A+E) A90, 000,000 13,802,010, 464 A37,918, 461 687,319,516 14, 361,411,519
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Kb 0 348, 086, 636 0 4,432 348,091, 118
RILEHA 0 8,267,160 0 39, 000 8, 306, 160
BAYS 0 1,924,917 0 0 1,924,917
E55|4% 0 7,845, 261 1,188, 268 0 9, 033, 529
KIENTF 0 376, 873, 400 0 0 376, 873, 400
RIHEERZF 0 43, 088, 900 0 0 43, 088, 900
mRBAEEE(G) 0 786, 086, 324 1,188, 268 43,432 187, 318, 024
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REHG(TEIHE 0 6,175, 249 0 0 6, 175, 249
EE&EEE (H) 0 6,175, 249 0 0 6, 175, 249
BESE(1=G+H) 0 792, 261, 573 1,188, 268 43, 432 793, 493, 273
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2 IRTEIERRBAE 0 0 0 768, 274, 300 768, 274, 300
ERBE 0 0 0 768, 274, 300 768, 274, 300
fEEERBESE (J) 0 0 0 168, 274, 300 768, 274, 300
(D BLEKRHE~ADILEE) 0 0 0 168, 274, 300 768, 274, 300
(OLBEEE~DFLE) 0 0 0 0 0
3 —HRIERRBARE A90, 000,000 13,009, 748, 891 A39,106, 729 AB80,998,216 12,799, 643, 946
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—MRIEREE & & (K) A90, 000,000 13,009, 748, 891 A39,106, 729 AB80,998,216 12,799, 643, 946
(D BEKHEADIFELE) 0 0 0 0 0
(D BLHEEE~DFEHE) 0 3,346,138, 436 0 0 3,346, 138, 436
ERBAESEH (L=U+K) A90, 000,000 13,009, 748, 891 A39, 106, 729 687,276,084 13,567,918, 246
BERUVERMESST(M=1+L) A90, 000,000 13,802,010, 464 A37,918, 461 687,319,516 14, 361,411,519




